EARAROBREBRT —5 XN—ZXBISH—F

Y 1 082 0HEFEREXFDOVE B1 5%k
[£E®] 1 &:490,00 9  27:156,00 3 / 37:78,000 @ / 4&:58,00 [ / 5 :49,000 g

202410818 (N) 14@E%R2H
‘(fﬁ} W ‘I%EH?’JFE‘?] | & 1000 =

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
—r 3 | SEEA 1:28.9 2-2-2-2 | 38.4| - 1 435 | BIHHTE (@R
1Y 3| FVARY—T )L 53.0 =) (49) @) 5YRTa/S-avBLIY
RR7YVYITSwo #:0-YIb—Ia BRI 7—LA
—n /1 iR MBS :29. G 3 = I &R
1 . e EA =2 LRk LA A -
RiT4IRD—LEY B:FIRAEUIR JFZ—ETF—L
S~ MPEth : -4-3- - EHLE (R
3l7) 7| YV b =F T o4 | BE 1.(219).5 4-4-3-3 | 38.8 3 (4_433) e ER)
R:FIYUTSwvT B:YYN—FAF EBALLEHIS
w hEREth : -1-1- - EH—E (&R
al1112 PwIRIXIF 4 4 56.05 1.(219).7 1-1-1-1 | 39.5 2 (4_57(; el
R:/RIvwvo B:ITr7a4rROvS LEFE BE
—v— P Yy 9 | BRAT 1:29.7 5-5-4-4 | 38.6| — 5 483 | EE—8 &R
5188 | A—N\—=T ¥ .0 ) 6 |FEE—
RiF4—=TFAVNT N B:A—PBLTH— /=Y ITr—1L
e & < SHREE :30. -3-4- . - 1% (&R)
6 APEVEPEES 44 i 1(32(;1 3-3-4-5 |39.3 7 (4_562) AN
Rib—EYS— B /RFVET BYNIIVITFIT7— L
— — it 6 | RS 1:30.9 7-7-6-7 | 39.1| - 8 415 | JIEREh (&R)
7155 | N=FU=Z 54.0 @) 7) |FieE8
RFAIATv— B:RARRR—I EvILyRI7—L
SY_ s oaw < SHESE : -8-8- - h)ll%e (&R)
gl 4| Yarvava—v 4B [ AN E ) (ﬁf) FLZE
RIRLT#Y BEFITRAYIAN Sl
@ 11— —BBIEfI
13—3F— 1,3,6,7,8,2,5,4
20— — 1,3,6,7,8,2,5,4
30—7— 1,3.7,(6,8),5,2,4
43— — 1,3,7,8,6,2,5,4
o ILRE
B B 3 190 JA R 2-3 530M4 B E 2-3 1,600 3EE 2-3-7 1,990
7B B 3 120 3-7 3004 =51 3-2 1,760 3EH 3-2-7 7,460
2 2604 2-7 1,440/
7 1804

ABIC OV TRUTEREERRODDZE. THRIIZEL.




